BERKELEY B10JPRBH ELECTRIC MOTOR DRIVE

Section CC
Cast Iron Impeller
. . Date March 4, 2013
Flanged Case, Packing Construction Superseces 04011
892 o1 Table |
/ 7 B/MNo. | HP | PH | RPM Imp. Dia. Imp. No.
o //S 3 13; . B85760 | 150 | 3 | 1800 12.50" M15622
ee Supplement B85758 | 200 | 3 | 1800 13.50" M15105
@
\r% /

ad

Item Part Part
No. Description Number
1 Case, Volute M15103
2 Impeller [Note 1) See Table | b
7 Ring, Wearing M15125 6412 0411
13 | Rings, Packing (Set of 5] S16448
14 | Sleeve, Shaft (Note 2) S29517L
17 | Gland, Packing (2 rqd) M05311
24 Locknut, Impeller 507829
29 | Ring, Lantern 514330
32 | Key, Impeller 1/2 x 2-3/4" M15123
61 Plate, Seal M15110
69 | Washer, Impeller M15232
71 Bracket See Table |l
119 ] 0-Ring M15130
800A | Capscrew, 5/8 - 11 x 1-3/4" (8 rqd) $28427 Table Il
800C | Stud (12 rqd) M15388 HP | PH | Bracket No. | "AK" Fit | "U" Dim. | Motor Frame
* Nut, Hex (12 rqd] S23490 150 | 3 M15113 16.00" | 2.1875" LLLTY
801 | Stud, 3/8 - 16 x2-1/2" (2 rqd) 524358 200 3 M15113 16.00" 2.1875" LL5TY
802 | Nut, Hex, Lock, 3/8 - 16 (2 rqd) S23347
810 | Plug, Pipe S23717
811A | Fitting, Grease S23700 NOTE 1: Impeller kit B85810 includes items 2, 24, 32, 69, 119.
* Slinger, Water M15129 Impeller (Ref. 2] is full diameter.
NOTE 2: Shaft sleeve kit B85812 includes items 14, 24, 32, 69,
* Not illustrated. 119, adhesive and instruction sheet.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

’;b PE N I AI R Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

© 2013 Pentair Ltd. All Rights Reserved. S4855BK



BERKELEY" B10JPBH
Cast Iron Impeller

Flanged Case, Packing Construction

802

801
/ 17
/ 13
@ See Supplement B

Item Part Part
No. Description Number
1 Case, Volute M15103
2 Impeller (Note 1) See Table |
7 Ring, Wearing M15125
13 | Rings, Packing (Set of 5] S13437
14 | Sleeve, Shaft (Note 2) M15120
17 | Gland, Packing (2 rqd) M13598
24 Locknut, Impeller 507829
29 Ring, Lantern 519198
32 | Key, Impeller 3/8 x 3/8 x 2" M15124
61 Plate, Seal M15222
69 | Washer, Impeller M15232
71 Bracket See Table ll
119 ] 0-Ring M15130
800A | Screw, 5/8 - 11 x 1-3/4" (8 rqd) S28427
800C | Stud (12 rqd) M15388
* Nut, Hex (12 rqd) S23490
801 | Stud, 3/8-16x2"(2rqd] 524335
802 | Nut, Hex, Lock, 3/8 - 16 (2 rqd] 523343
810 | Plug, Pipe S23717
811A | Fitting, Grease 523700
* Slinger, Water M15128

* Not illustrated.

D PENTAIR

© 2013 Pentair Ltd. All Rights Reserved.

FLECTRIC MOTOR DRIVE

Section CC
Page 44012
Date March 4, 2013
Supersedes 06/01/11
Table |
B/M No. | HP PH RPM Imp. Dia. Imp. No.
B85764 | 100 3 1800 11.00" M15623
B85762 | 125 3 1800 11.63" M15223

6412 0411

Table Il
HP | PH | Bracket No. | "AK" Fit | "U" Dim. | Motor Frame
00| 3 M15114 12.50" 1.625" 4L04TCZ
1251 3 M15114 12.50" 1.625" 405TCZ

NOTE 1: Impeller kit B85822 includes items 2, 24, 32, 69, 119.
Impeller (Ref. 2) is full diameter.

NOTE 2: Shaft sleeve kit B85815 includes items 14, 24, 32, 69,
119, adhesive and instruction sheet.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

S4855BK




FLECTRIC MOTOR DRIVE

BERKELEY" B10JPBHS

Section CC
Cast Iron Impeller
) ] Date March 4, 2013
Flanged Case, Mechanical Shaft Seal Construction Supersedes Q610111
Table |
B/MNo. | HP | PH RPM Imp. Dia. Imp. No.
B85761 150 3 1800 12.50" M15622
B85759 | 200 3 1800 13.50" M15105
13

See Supplement B

Item Part Part
No. Description Number
1 Case, Volute M15103
2 Impeller (Note 1) See Table |
7 | Ring, Wearing M15125 6413 0411
13 | Seal, Shaft 532697
14 | Sleeve, Shaft (Note 2) S29517L
24 Locknut, Impeller 507829
32 | Key, 3/8x3/8x2" M15124
61 Plate, Seal M15107
69 | Washer, Impeller M15232
71 Bracket See Table |l
119 | 0-Ring M15130 Table Il
800A | Screw, 5/8 - 11 x 1-1/2" (8 rqd) S28427 HP | PH | Bracket No. | "AK" Fit | “U" Dim. | Motor Frame
800C | Stud (12 rqd) M15388 150 | 3 M15113 16.00" | 2.1875" LLLTY
* Nut, Hex (12 rqd) S23490 200 | 3 M15113 16.00" | 2.1875" 4LL5TY
810 | Plug, Pipe 1/2 NPT 523717
810A | Plug, Pipe 523714
817 | Ring, Retaining S29519 NOTE 1: Impeller kit B85810 includes items 2, 24, 32, 69, 119.
* Slinger, Water M15129 Impeller (Ref. 2] is full diameter.

NOTE 2: Shaft sleeve kit B85812 includes items 14, 24, 32, 69,

* Not illustrated.

D PENTAIR

© 2013 Pentair Ltd. All Rights Reserved.

119, adhesive and instruction sheet.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

S4855BK




TYPE “B” SINGLE STAGE CENTRIFUGAL PUMP

BERKELEY" B10JPBHS

Cast Iron Impeller

Flanged Case, Mechanical Shaft Seal Construction

ELECTRIC MOTOR DRIVE

Section CC
Page 440.2.2
Date March 4, 2013
Supersedes 06/01/11
Table |
B/MNo. | HP PH RPM Imp. Dia. Imp. No.
B85765 | 100 3 1800 11.00" M15623
B85763 | 125 3 1800 11.63" M15223
13

See Supplement B

* Not illustrated.

D PENTAIR

© 2013 Pentair Ltd. All Rights Reserved.

Item Part Part
No. Description Number
1 Case, Volute M15103
2 Impeller (Note 1) See Table |
7 | Ring, Wearing M15125 64210511
13 | Seal, Shaft S32016
14 | Sleeve, Shaft (Note 2) M15120
24 Locknut, Impeller 507829
32 | Key, 3/8x3/8x2" M15124
61 Plate, Seal M15221
69 | Washer, Impeller M15232
71 Bracket See Table |l
119 | 0-Ring M15130 Table Il
800A | Capscrew, 5/8 - 11 x 1-1/2" (8 rqd) 528427 HP | PH | Bracket No. | "AK" Fit | "U" Dim. | Motor Frame
800C | Stud (12 rqd) M15388 100 3 M15114 12.50" 1.625" 404TCZ
* Nut, Hex (12 rqd) 523490 1251 3 M15114 12.50" 1.625" 405TCZ
810 | Plug, Pipe 1/2 NPT 523717
810A | Plug, Pipe 523714
817 | Ring, Retaining M15131 NOTE 1: Impeller kit B85822 includes items 2, 24, 32, 69, 119.
* Slinger, Water M15128 Impeller (Ref. 2] is full diameter.

NOTE 2: Shaft sleeve kit B85815 includes items 14, 24, 32, 69,
119, adhesive and instruction sheet.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

S4855BK



	CC440-1-1_20130304_LR
	CC440-1-2_20130304_LR
	CC440-2-1_20130304_LR
	CC440-2-2_20130304_LR

